## Format for Advertisement in Website

## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Hindustan Petroleum Corporation Limited. proposes to appoint Retail Outlet dealers in the state of JHARKHAND, as per following details:

SI. No	Name of location	Revenue District	Туре of RO	Estim ated mont hly Sales Poten tial #	Category	Ty pe of Sit e*	Dime M.) the s	nimum nision /Area c ite (in S ⁄I.). *	(in of	Finance arrange applicar	d by the	Mode of Selecti on	FixedFee/MinimumBidamount	Secu rity Dep osit
1	2	3	4	5	6	7		8		9a	9b	10	1 1	12
			Reg ular / Rura I	MS+H SD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-1 ST CC-2 ST PH OBC OBC CC-2 OBC PH OPEN OPEN CC-1 1 OPEN CC-2 2 OPEN PH	CC / DC / CFS	Fro nta ge	De pth	A r e a	Estim ated worki ng capita l requir emen t for opera tion of RO (Rs. in Lakhs)	Estimate d fund required for develop ment of infrastru cture at RO (Rs. in Lakhs)	Draw of Lots / Bidding	Rs.inLakhs	Rs. in Lakh S

1	Within 5 km from Gomia chowk towards Kathara	BOKARO	Regular	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
2	Within 4 Km from Bagra More on NH99 towards Balumath	CHATRA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
3	Within 2 km of Birkera Chowk on Any Major Road	GUMLA	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
4	within 2 km from kalajharia railway crossing towards karmatar railway station	JAMTARA	Regular	190	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
5	Within 2 km of Village Hirhi on Ranchi- Lohardaga Road	LOHARDAGA	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
6	Within 2 km of Village Saheda on Kisko Road	LOHARDAGA	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
7	10 KM from Hiranpur towards Baraharwah	PAKUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	Within 3 km of Village Lesliganj on Lesliganj - Mudaria Road	PALAMU	Rural	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
9	Within 2 km of Itehi More on Brambe Thakurgaon Road towards Brambe	RANCHI	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
10	Within 2 km of Hotel Park Imbue on Ratu- Burmu Road	RANCHI	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
11	From Chouka village up to 10 KMs towards Ranchi on NH33 on LHS.	SARAIKELA KHARSAWA N	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	On NH 75 extension, between KM stone 120 -122 on Chakardharpur Chaibasa Road	WEST SINGHBHUM	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	6 Kms Either side of Toll Plaza in Tand Balidih on NH23	BOKARO	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
14	From Peterbar chowk to Gola on NH23 on Either side	BOKARO	Regular	180	OBC	сс	35	45	1575	25	10	Bidding	30	4
15	4 KM from Peterbar Chowk in Peterbar to Tenughat on Tenughat Road	BOKARO	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
16	Within 3 km, all around Chandrapura Junction on Major Road	BOKARO	Regular	150	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
17	Sector 12 More to Chas Municipal Corporation Park on NH23 on either side of Road.	BOKARO	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
18	Within 3 Kms from Railway Overbridge on NH23 towards Balidih on NH23 ( Mouza : Dumro)	BOKARO	Regular	160	OPEN	сс	35	45	1575	25	10	Bidding	30	5
19	Telgharia More to Telmocho Bridge on NH32 in Left or Right any sides of Road	BOKARO	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
20	4 Kms from Peterbar chowk towards Bahadurpur on NH23 on Either side	BOKARO	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5

21	4 Kms from Vedanta Hospital towards Purulia on NH32	BOKARO	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
22	4 Kms from Garga Bridge towards Chas.	BOKARO	Regular	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
23	Between Dalmia Cement and Biada Office on any Major Road	BOKARO	Regular	150	OPEN	DC	25	25	625	25	60	Draw of Lots	15	5
24	Alkusa to Telgharia on major Road in Moza Alkusa	BOKARO	Regular	150	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
25	Within 2 Kms from Jhagrahi More Towards Dhanbad on Hirak Road in Left hand side when heading Towards Dhanbad	BOKARO	Regular	150	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
26	Within 3 Kms From Telo Railway Station on Bhendra Gomoh Road in Nawadih Block	BOKARO	Rural	70	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
27	Within 2 Kms from Chandankiyari More towards Jharia on Chandankiyari -Jharia Road	BOKARO	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
28	Within 2 Kms From Bajrang Bali mandir on Main Road Suri towards Dumri	BOKARO	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
29	Within 3 Km of Ambadih main Chowk in Utsara Panchayat under Peterbar Block	BOKARO	Rural	70	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
30	Within Village Tiro P.O Pathuria P.S Jaridih	BOKARO	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
31	On Road connecting between Bhandarida to Chandrapura	BOKARO	Rural	100	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
32	WITHIN 5 KM FROM SIMARIA CHOWK, SIMARIA, TOWARDS BAGRA MORE	CHATRA	Regular	170	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
33	UPTO 5 KM FROM BAHERA CHOWK BUS STOP NEAR KALYANPUR, TOWARDS TANDWA, ON BACHRA- TANDWA ROAD	CHATRA	Regular	170	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
34	within 3KM from Bora More on Chatra- Dobi Road (NH-99)	CHATRA	Regular	170	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
35	WITHIN 10 KM FROM SIMARIA CHOWK, SIMARIA, TOWARDS HAZARIBAGH, ON NH 100	CHATRA	Regular	170	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
36	BETWEEN 4 KM AND 8 KM FROM BAGRA MORE TOWARDS GONIYA, ON NH-99	CHATRA	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
37	WITHIN 5 KM FROM POLICE STATION, CHATRA ON MAJOR ROAD	CHATRA	Regular	140	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
38	WITHIN 10 KM FROM HUNTERGANJ PS ON NH-99 TOWARDS CHATRA	CHATRA	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4

39	WITHIN 2 KM OF GIDHOR POLICE STATION ON HAZARIBAGH-CHATRA	CHATRA	Rural	90	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
40	ROAD WITHIN 3 KM FROM LAWALONG POLICE STATION, IN LAWALONG VILLAGE ON MAJOR ROAD	CHATRA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
41	WITHIN 7 KM FROM UNTA MORE TO KANCHCHATTI	CHATRA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
42	WITHIN 3 KM OF PATHALGADA BLOCK OFFICE ON MAJOR ROAD(NOT ON BALBAL DWARI ROAD)	CHATRA	Rural	90	OPEN	сс	30	30	900	12	5	Bidding	10	4
43	UPTO 7 KM FROM TANDWA POLICE STATION TOWARDS SIMARIA, ON TANDWA- SIMARIA ROAD	CHATRA	Rural	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
44	WITHIN 3 KM, FROM UTKARMIT MADHYA VIDYALAY, KISUNPUR , ON TANDWA-SIMARIYA ROAD, TOWARD SIMARIYA ON LHS	CHATRA	Rural	90	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
45	WITHIN 4 KM FROM CHOUPA MORE IN DEOGHAR DISTRICT TOWARDS HANSADIHA ON NH133	DEOGHAR	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
46	4 KM ON EITHER SIDE OF CHOUPA MORE ON DEOGAHR DUMKA ROAD ON Dumka- Rampurhat Road (NH114A)	DEOGHAR	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
47	Within 6kms from Ghormara More to Badhia More, Tilakpur	DEOGHAR	Regular	110	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
48	Within 4 km from Chakai More, Jasidih on NH 333	DEOGHAR	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
49	Within 4 km from Dalmia Koop, Madhupur on any Major Road	DEOGHAR	Regular	180	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
50	around 2 km from madankatta station on any major road	DEOGHAR	Regular	130	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
51	Within 3 km on either side of AIIMS Main Gate on Deoghar-Giridih Road	DEOGHAR	Regular	150	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
52	Within 6 km from Tower Chowk in Deoghar on Any Major Road	DEOGHAR	Regular	200	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
53	3Within 3 km from Overbridge on Jammua -Deoghar road towards chakai (In Jharkhand)	DEOGHAR	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
54	Within 6 km from Vidyasagar Village towards Kalajharia	DEOGHAR	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
55	Within 4 km from Barmasia Bridge	DHANBAD	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5

	towards Baliapur on Major Road													
56	Up to 12 KM from Binod Bihari mahato Chowk towards Jharia on Jharia-Baliapur Road	DHANBAD	Regular	110	OPEN CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
57	Between Howrah Motor to Kumar Takies in Dhanbad	DHANBAD	Regular	180	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
58	Gopalgunj More to Nirsa Bazar on NH2 on Right Hand side when heading Towards Kolkata	DHANBAD	Regular	200	OBC	сс	35	45	1575	25	10	Bidding	30	4
59	Hirak Point (Memco mod) to Burwada on either side	DHANBAD	Regular	160	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
60	Between Memco More Chowk (Hirak Point) & Binod Bihari Chowk on Ring Road, Dhanbad	DHANBAD	Regular	110	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
61	Between Mohuda More to Telmuchu Bridge on NH32 in LHS or RHS	DHANBAD	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
62	On Main Road between Steel Gate to Kola Kusuma More in Dhanbad.	DHANBAD	Regular	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
63	Between Govindpur Postoffice and Khalsa Hotel on NH2 in LHS or RHS (when heading Towards Kolkata).	DHANBAD	Regular	200	OPEN	сс	35	45	1575	25	10	Bidding	30	5
64	Between Shankerdih and Pokharia on Govindpur-Sahebgunj SH	DHANBAD	Regular	110	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
65	Between Kauabandh and Bhitiya on NH-2 in LHS or RHS when Heading Towards Kolkata	DHANBAD	Regular	200	OPEN	сс	35	45	1575	25	10	Bidding	30	5
66	From Howrah Motor to Manaitand on any Major Road .	DHANBAD	Regular	170	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
67	Within 1 Kms either side from Charak More on Govindpur-Giridih Road in Pratappur	DHANBAD	Regular	120	OPEN CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
68	Up to 8 Kms from Govindpur On Govindpur-Giridih Road	DHANBAD	Regular	100	OBC	сс	30	30	900	25	10	Bidding	30	4
69	Between Mohuda More Chowk to Kapuria Police Station on NH32	DHANBAD	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
70	2 kms either side from Pandra More on MPL Road	DHANBAD	Regular	110	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
71	From Memco More to Tata Motor Show Room on Hirak Road	DHANBAD	Regular	180	OPEN	DC	25	25	625	25	60	Draw of Lots	15	5
72	Between Bhitiya and kishan chowk Burwadda on NH-2 in LHS or RHS when Heading Towards Kolkata	DHANBAD	Regular	200	OPEN	сс	35	45	1575	25	10	Bidding	30	5
73	Within 3 km from Mahto Line Hotel, MahaRajganj towards	DHANBAD	Regular	100	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5

	Giridih on Dhanbad- Giridih Road													
74	Within 4 Km from Tenughat Chowk on Peterwar Road	DHANBAD	Regular	150	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
75	From Topchanchi on NH2 to Gomoh Railway Crossing on Gomoh - Harna Road	DHANBAD	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
76	Within 5 Kms from Maniyadih Panchayat on Kolhar-Domanpur Road	DHANBAD	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
77	Bhojudih to Sangramdih on Dhanbad Giridh Road	DHANBAD	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
78	Between Kamardih +2 High school and Behra , Maharajgunj on either side, Dhanbad Giridih Road	DHANBAD	Rural	90	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
79	Within 5 Kms either side from Madhya vidyalay , Lachuriadih on Govindpur-Giridih Road	DHANBAD	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
80	From Gomoh Railway Crossing, Gomoh to Harna More, Bhaghmara	DHANBAD	Rural	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
81	Within 3 Kms from Path Parivahan Nirishan Bhavan in Manjhiladih on Govindpur-Giridih Road	DHANBAD	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
82	Within 2 Kms from Baliapur Chowk on Baliapur - Govindpur Road towards Govindpur (RHS)	DHANBAD	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
83	within 1 Kms from 99 Smart Town Gate on Baliapur - Hirak Road towards Baliapur in Amjhar (LHS)	DHANBAD	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
84	Within 2 Kms from Dudhia Chowk on Baliapur - Patlabari Road heading towards Baliapur(RHS).	DHANBAD	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
85	On Road Between Shakti Chowk to Rajgunj (on NH2) in Rajgunj	DHANBAD	Rural	90	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
86	Dumka bypass road conecting Dumka- Rampur hat road & Govindpur-Sahebganj highway	DUMKA	Regular	210	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
87	Within 6 km of Rampurhat Chowk towards kolkata on Dumka-Rampurhat Road (NH114A)	DUMKA	Regular	270	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
88	Within 3 Kms of Kurwa Chowk , Pattabari on Dumka-Rampurhat Road (NH114A)	DUMKA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

89	Within 3 KM FROM MAHAROMOR TOWARDS HANSADIHA ON SH	DUMKA	Regular	170	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
90	Within 8 Kms of Taljhari Police Station in Dumka on Deoghar-Dumka Road. (NH114)	DUMKA	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
91	Within 3 Kms of Kurwa Chowk , Pattabari on Dumka-Rampurhat on National Highway	DUMKA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
92	Within 3 km from Nawadih more towards Dumaria	DUMKA	Rural	100	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
93	Within 10 km from Patta Bari More Towards Masanjor Dam	DUMKA	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
94	On MARINE DRIVE ROAD, JAMSHEDPUR	EAST SINGHBHUM	Regular	170	OPEN	сс	26	20	520	25	10	Bidding	30	5
95	From BALIGUMA to Barabanki, Pipla on NH- 33 on LHS	EAST SINGHBHUM	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
96	From Ghatshila to Dalbhumgadh on NH33	EAST SINGHBHUM	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
97	At Parsudih on major road	EAST SINGHBHUM	Regular	110	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
98	Within 3 Kms from Anna chowk, CHOTA GOVINDPUR on major road	EAST SINGHBHUM	Regular	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
99	From Sundenagar Railway crossing to Kudada on Jamshedpur Hata Road	EAST SINGHBHUM	Regular	180	OPEN	DC	35	45	1575	25	60	Draw of Lots	15	5
100	From Galudih to Ghatshila on NH-33 on LHS towards Bahragoda	EAST SINGHBHUM	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
101	At Harhargattu, on Jagdishpur Rajnagar Road	EAST SINGHBHUM	Regular	170	OPEN	сс	26	20	520	25	10	Bidding	30	5
102	KOWALI VILLAGE ON MAJOR ROAD	EAST SINGHBHUM	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
103	IN BETWEEN POTKA TO KALIKAPUR VILLAGE ON JADUGODA HATA ROAD	EAST SINGHBHUM	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
104	Within Village Hurda	EAST SINGHBHUM	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
105	In Between Mosabani and Dumaria on Mosabani Dumaria Road	EAST SINGHBHUM	Rural	90	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
106	Within 2 km of Village Bilaspur, Nagar Untari on Garhwa-Nagar Untari Road (NH75)	GARHWA	Regular	200	OPEN	сс	35	35	1225	25	10	Bidding	30	5
107	Within 4 km of Village Marwaniya on Garhwa- Nagar Untari Road (NH75)	GARHWA	Regular	200	OPEN	сс	35	35	1225	25	10	Bidding	30	5
108	Within 2 km of vill Pipardih on Majheoan- Kandi Road	GARHWA	Rural	100	OPEN	сс	30	30	900	12	5	Bidding	10	4
109	within 2 KM from Village Mahuli Khurd, on any Major Road	GARHWA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
110	Within 3 Kms of Dandai Thana, On Major Road	GARHWA	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3

111	Within 3 km of Village Dumariya on major road	GARHWA	Rural	100	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
112	Within 2 km from Mahavir Mandir Chowk, Bargarh towards Chattisgarh	GARHWA	Rural	100	OPEN	СС	30	30	900	12	5	Bidding	10	4
113	Within 5 km of village Kandi on Majheoan- Kandi-Baligarh Road	GARHWA	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
114	Within 3 Kms of Danda Block Office, On Danda- Garhwa Road	GARHWA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
115	Within Village Okhargara on Majhiaon-Garhwa Road	GARHWA	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
116	ON NH-2 Between Milestone 1120-1122 KM on both side of NH	GIRIDIH	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
117	Kumharlalo on Dumka- Rampurhat Road (NH114A)	GIRIDIH	Regular	180	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
118	Within 2 km of Paroya Village (Thana Nimiaghat) on NH-2	GIRIDIH	Regular	210	OPEN CC 1	сс	35	45	1575	25	10	Bidding	30	5
119	ON NH 2 BETWEEN MILESTONE 1122-1132 KM ON RHS TOWARDS KOLKATA	GIRIDIH	Regular	190	OBC	СС	35	45	1575	25	10	Bidding	30	4
120	within 3 km from khorthamba chowk on SH 13	GIRIDIH	Regular	170	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
121	Within 5 km from Madhuban More on any major road	GIRIDIH	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
122	3kms from Meena General hospital on NH- 2, towards Kolkata (LHS)	GIRIDIH	Regular	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
123	Within 2 km of Village Harladih (after Madhuban More) on Giridih-Dumri Road (NH114A)	GIRIDIH	Regular	190	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
124	Within 4 km tollplaza, dhuditand, on NH-114A towards deoghar on RHS	GIRIDIH	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
125	within 5 km from Bharkatta chowk on any major Road.	GIRIDIH	Regular	170	OPEN CC 2	DC	30	30	900	25	45	Draw of Lots	15	5
126	Upto 6 km from railway crossing (sariya) towards rajdhanwar	GIRIDIH	Regular	200	OBC	сс	30	30	900	25	10	Bidding	30	4
127	Upto 2 km from mansadih chowk on any major road	GIRIDIH	Regular	190	OBC PH	DC	35	35	1225	25	45	Draw of Lots	15	4
128	Upto 4 km from railway station (sariya) towards bagodar	GIRIDIH	Regular	200	OPEN CC 1	DC	35	45	1575	25	60	Draw of Lots	15	5
129	Within 2 km From Chatro More Towards Tisri	GIRIDIH	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
130	Within 2 km from Jamua More towards Deoghar	GIRIDIH	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
131	Village Sasrkho	GIRIDIH	Rural	90	OBC PH	DC	30	30	900	12	30	Draw of Lots	5	3
132	Village Visanpur	GIRIDIH	Rural	90	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	2

133	Chapri Village to Dumri Over Bridge on Phusro- Dumri Road.	GIRIDIH	Rural	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
134	Within 3 Kms from Pathargama chowk towards Pirpati on Godda Mahagama Road on either side of National highway No 133	GODDA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
135	WITHIN 5 KMS FROM MAHAGAMA BUS STOP ON MAHAGAMA - LALMATIA ROAD	GODDA	Regular	180	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
136	Within 5 km either side from Kargil Chowk towards Godda on NH 133.	GODDA	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
137	In between Jamshedpur Dairy to Marine Drive More on Kandra- Adityapur road on LHS while going towards Adityapur	SARAIKELA KHARSAWA N	Regular	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
138	Within 3 Kms from Pathargama chowk towards Godda on Godda Mahagama Road on NH133	GODDA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
139	Within 8 Kms of Sundarpahari Bus Stop on Godda -Barhait Road.	GODDA	Regular	120	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
140	Within 5 km either side from kargil chowk towards Godda on NH 133.	GODDA	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
141	Within 3 km of Tower Chowk, Gumla	GUMLA	Regular	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
142	In Between Nilamber Pitamber Gate, Netarhat to Vill: Tutwapath on Ghaghra- MahuaDand Road	GUMLA	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
143	On Gumla Link/Bypass Road	GUMLA	Regular	110	OPEN PH	DC	30	30	900	25	45	Draw of Lots	15	5
144	Within 5 Kms On Both The Sides Of Palkot Police Station On Gumla-Kolebida Road (NH-23)	GUMLA	Regular	170	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
145	Between Mile Stone ( 5KM Gumla ) and (10Km Gumla) on Gumla Raidih Road (On NH-78)	GUMLA	Regular	200	OPEN	сс	35	35	1225	25	10	Bidding	30	5
146	Within 5 km of Village Kamta on Kandara-Bano Road	GUMLA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
147	Within Village Puso Block Sisai	GUMLA	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
148	Within 3 km of Nawadih Chowk, near Village Dumri	GUMLA	Rural	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
149	WITHIN 5 KM FROM DISTRICT BOARD CHOWK, HAZARIBAGH TOWARDS BARHI ON LHS	HAZARIBAG H	Regular	150	SC CC 1	CFS	25	25	625	0	0	Draw of Lots	0	3

150	ON NH-2, FROM KM STONE 1068 TO 1074 TOWARDS KOLKATA ON LHS	HAZARIBAG H	Regular	240	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
151	FROM KORRAH CHOWK, HAZARIBAGH TO BSF GATE, MERU VILLAGE ON NH-100	HAZARIBAG H	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
152	In between KM Stone 14 to 16 on Barhi - Hazaribagh Road (NH33) towards Hazaribagh on LHS	HAZARIBAG H	Regular	280	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
153	Up to 10 KM from Middle School Barkagaon towards Tandwa on SH-7	HAZARIBAG H	Regular	140	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
154	In Between Kmstone 50 to 52 on Barhi Hazaribag Road(NH 33)	HAZARIBAG H	Regular	280	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
155	Village Oderna On Hazaribagh- Barkagaon Road	HAZARIBAG H	Regular	220	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
156	BETWEEN KM STONE 12 AND 20 ON SH-7	HAZARIBAG H	Regular	120	OPEN	СС	30	30	900	25	10	Bidding	30	5
157	WITHIN 5 KM FROM KEREDARI POLICE STATION, KEREDARI, ON SH-7 TOWARDS TANDWA	HAZARIBAG H	Regular	160	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
158	BETWEEN KM STONE 53 AND 60 ON NH-100	HAZARIBAG H	Regular	170	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
159	BETWEEN KM STONE 1080 TO 1083 ON NH-2, TOWARDS KOLKATA on RHS	HAZARIBAG H	Regular	240	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
160	ON NH-2, FROM KM STONE 1068 TO 1074 TOWARDS KOLKATA ON RHS	HAZARIBAG H	Regular	240	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
161	FROM BSF GATE,MERU VILLAGE TO POLICE STATION,DARU ON NH100	HAZARIBAG H	Regular	180	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
162	WITHIN 5 KM FROM KENDUA MORE ON NH- 2, NEAR CHAUPARAN TOWARDS DABDHAM ON KENDUA DABHDHAM ROAD	HAZARIBAG H	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
163	In between KM Stone 17 and 19 on Barhi - Hazaribagh Road (NH33) towards Hazaribagh on RHS	HAZARIBAG H	Regular	270	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
164	ON NH-33 FROM KM STONE 47 TO 50 TOWARDS RAMGARH ON RHS	HAZARIBAG H	Regular	170	OPEN	сс	45	45	2025	25	10	Bidding	30	5
165	WITHIN 3 KM OF GIDDI POLICE STATION, GIDDI TOWN, HAZARIBAGH	HAZARIBAG H	Regular	130	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
166	WITHIN HAZARIBAGH MUNICIPALITY LIMIT, FROM ST COLUMBUS COLLEGE ON HAZARIBAGH-RANCHI ROAD(NH)	HAZARIBAG H	Regular	170	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

167	In between KM Stone 24 to 30 on Barhi Hazaribagh Road (NH- 33)	HAZARIBAG H	Regular	270	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
168	In Between Green Point Public School More to Korra Chowk via Jabra	HAZARIBAG H	Regular	190	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
169	ON NH-2, FROM KM STONE 1109 TO 1111 TOWARDS KOLKATA ON LHS	HAZARIBAG H	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
170	WITHIN 4 KM FROM BARKAGAON CHOWK, ON BARKAGAON- BADAM ROAD, EXCLUDING SH-7	HAZARIBAG H	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
171	WITHIN 2 KM OF KATKAMSANDI POLICE STATION, KATKAMSANDI, ON HAZARIBAGH- CHATRA ROAD	HAZARIBAG H	Rural	100	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
172	IN BETWEEN KM STONE 6 AND 11 ON MDR 70, HAZARIBAGH-CHATRA ROAD,	HAZARIBAG H	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
173	WITHIN 4 KM & 8 KM FROM CHATRA MORE, CHAUPARAN, ON ITKHORI CHAUPARAN ROAD	HAZARIBAG H	Rural	80	OBC	сс	30	30	900	12	5	Bidding	10	3
174	WITHIN 5 KM FROM POLICE STATION,PADMA TOWARDS ITKHORI ON PADMA ITKHORI ROAD	HAZARIBAG H	Rural	100	OBC CC 1	DC	30	30	900	12	30	Draw of Lots	5	3
175	Within 4 Km of Vidya Sagar Railway Station on any Major Road	JAMTARA	Regular	120	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
176	Within 2 km from Mahatma Gandhi memorial statue towards Barjori	JAMTARA	Rural	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
177	Within 3 km from Mahatma Gandhi memorial & statue towards chapria	JAMTARA	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
178	Within 2 km of Durga Mandir, Khunti on Ranchi-Khunti Road (NH75E)	KHUNTI	Regular	200	OPEN	сс	30	30	900	25	10	Bidding	30	5
179	Within 2 km of Dorma Chowk on Khunti- Kolebida Road, SH3	KHUNTI	Regular	170	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
180	Within 2 km of Govindpur Road Railway Station, on Lapung-Govindpur road	KHUNTI	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
181	In between Village Kelo and Jaipur Village On Tapkara to Rania Road	KHUNTI	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
182	Within 10 Km from Subhash Chandra Bose Chowk, Teliaya on Ranchi-Patna Road (NH31) towards Koderma	KODERMA	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
183	WITHIN 16 KM ON NH- 31 FROM BARHI, TOWARDS KODERMA	KODERMA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

184	WITHIN 2KM FROM HARHARO RIVER BRIDGE, TOWARDS KODERMA, IN VILL- SALLAIYA	KODERMA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
185	WITHIN 3 KM FROM PIPCHO CHOWK ON KODERMA-MARKACHO ROAD (ON MAJOR ROAD EXCLUDING HIGHWAY)	KODERMA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
186	Within 5 km of Latehar Thana on Ranchi- Daltonganj Road, NH75	LATEHAR	Regular	200	OBC PH	DC	35	35	1225	25	75	Draw of Lots	15	4
187	Within 2 km of Humbu Police Post on Balumath - Panki Road, SH-10	LATEHAR	Regular	120	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
188	Within 1 km of Latehar Thana towards Railway Station On Station Road	LATEHAR	Regular	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
189	Upto 6 Kms On Both Sides Of Manika Thana, On NH-75	LATEHAR	Regular	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
190	Within 10 km of Balumath Police Station on Balumath-Chandwa Raod, NH 99	LATEHAR	Regular	200	OPEN	СС	35	35	1225	25	10	Bidding	30	5
191	Within 10 km of Chandwa Chowk (Intersection of Ranchi- Daltonganj NH 75 & Chandwe-Chattra Road NH 99) towards Latehar	LATEHAR	Regular	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
192	Within 10 km of Chandwa Chowk (Intersection of Ranchi- Daltonganj NH 75 & Chandwe-Chattra Road NH 99) towards Balumath	LATEHAR	Regular	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
193	Village Barwadih to chippadohar on major road	LATEHAR	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
194	Within Haharu Bridge to Murpa Village on Mcluskiganj Balumath Road	LATEHAR	Rural	90	OBC	СС	30	30	900	12	5	Bidding	10	3
195	Within 3 km of Village Nagra on Balumath- Seregara Road	LATEHAR	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
196	Within 5 kms from Balumath SBI crossing on Tandwa road	LATEHAR	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
197	Within Lohardaga Municipal Limit	LOHARDAGA	Regular	130	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
198	In Between Bhandra Thana and Semra Road Chowk, on Lohardaga- Bero Road	LOHARDAGA	Regular	100	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
199	In Between Kuru Chowk and Henjla Police Check Post on Ranchi Daltonganj Road (NH- 75)	LOHARDAGA	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
200	Within 2 km of Kasturba High School (New Road,Lohardaga) towards Gumla	LOHARDAGA	Regular	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
201	Within Village Dhobali	LOHARDAGA	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2

202	Within Village Bhaksho on Lohardaga-Irgaon Road	LOHARDAGA	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
203	3 km around Amrapara on any major Road except towrads alubera	PAKUR	Regular	180	OBC CC	DC	35	35	1225	25	45	Draw of Lots	15	4
204	5 KM around littipada on govindpur-sahebganj SH-18	PAKUR	Regular	200	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
205	Within 3 km from pakuria more (sido- kanuhu more) towards Nalhati	PAKUR	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
206	Within Simdega Municipal Limit	PALAMU	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
207	Within 7 km of Redma Chowk on Panki- Daltonganj Road	PALAMU	Regular	170	OPEN CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
208	Within 5 km of Chattarpur Chowk on Daltonganj-Hariharganj Road (NH-98)	PALAMU	Regular	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
209	In between milestone no- 15km Panki & 18 km Panki, on Panki- Daltonganj Road	PALAMU	Regular	170	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
210	Within Daltonganj Municipal Limit	PALAMU	Regular	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
211	Within 3 km of Padwa More on NH-75 towards Garhwa	PALAMU	Regular	200	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
212	Within 3 Kms On Both Sides of Redma Chowk, On NH-75	PALAMU	Regular	200	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
213	Within 3 km of either side Bishphutta Bridge on Daltonganj-Garhwah Road ( NH75)	PALAMU	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
214	Within 3 km of Village : Etko on Chatarpur- Daltonganj Road, NH-98	PALAMU	Regular	200	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
215	Within 2 Km of Village Hirsa on Ranchi- Daltonganj Road (NH 75)	PALAMU	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
216	Within 2 km of Village Pansa on any major road	PALAMU	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
217	Within 2 km of Thana Untare Road towards MohammadGanj on Bishrampur- MohammanGanj Road	PALAMU	Rural	90	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
218	Within 5 km of Talapara Primary School on Daltonganj-Shahpur- Garhwah Road	PALAMU	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
219	Within Village Bansdohar Block Pipra on Japla-Hariharganj Road	PALAMU	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
220	Within Village Dumri on Chattarpur-Dhobi Road	PALAMU	Rural	90	OPEN	СС	30	30	900	12	5	Bidding	10	4
221	Within Village Gandhipur	PALAMU	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
222	Within Village Rajhara	PALAMU	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4

223	Within 2 km of Sidhnath B. Ed. College on Japla- Chattarpur Road	PALAMU	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
224	In between Patan More (on NH-75) and Meral More	PALAMU	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
225	Within 2 km of Gandhi Chowk, Gandhipur on Daltonganj-Shahpur- Garhwah Road	PALAMU	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
226	WITHIN 3 KM FROM MANDU POLICE STATION, MANDU VILLAGE, ON NH-33	RAMGARH	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
227	WITHIN 5 KM FROM BHADANINAGR OUTPOST (Police OP), NEAR BHURKUNDA ON RAMGARH PATRATU SH (SH-2)	RAMGARH	Regular	120	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
228	WITHIN 3 KM FROM HESLA POST OFFICE, ON ARGADA-RAMGARH ROAD	RAMGARH	Regular	130	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
229	Within Ramgarh Municipal Limit	RAMGARH	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
230	From Ramgarh More, on NH33 to Pundag Toll Plaza on Ramgarh- Ranchi Road (NH 33)	RAMGARH	Regular	170	OPEN PH	DC	45	45	2025	25	75	Draw of Lots	15	5
231	WITHIN 5 KM FROM SOSOKHURD TOLL PLAZA TOWARDS BOKARO ON NH-23	RAMGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
232	IN BETWEEN KM STONE 79 TO 86 ON RAMGARH BYPASS ROAD(NH33) TOWARDS RANCHI ON LHS	RAMGARH	Regular	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
233	WITHIN 7 KM FROM GOLA CHOWK, GOLA, ON GOLA-SILLI ROAD	RAMGARH	Rural	90	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
234	Within 5 km of Kathitand Chowk on Ranchi-Daltonganj Road (NH-75)	RANCHI	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
235	Within 5 kms From Jharkhand More, Silli on SH towards Ranchi on LHS	RANCHI	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
236	Within 2 km of New Swarnarekha Hotel on Ormanjhi-Gola Road, towards Ormanjhi	RANCHI	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
237	In Village Hochar on Kanke-Ormanjhi Ring Road	RANCHI	Regular	170	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
238	Inbetween Karamtoli Chowk and Jail More, Ranchi	RANCHI	Regular	250	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
239	Within 3 km of Birsa Chowk on all Major roads except towards Khunti	RANCHI	Regular	250	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
240	Between Sadabahar Chowk and Ghagra Chowk	RANCHI	Regular	180	SC	CFS	26	26	676	0	0	Draw of Lots	0	3
241	Within 3 km on Hutar Chowk on Ranchi- Khunti Road (NH-75E)	RANCHI	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

242	In between Kmstone no. 150 & 155 on Ranchi-Tata Road, NH- 33 (On either side)	RANCHI	Regular	230	OPEN	DC	40	40	1600	25	75	Draw of Lots	15	5
243	Within 6 km of Village Chanho on Ranchi- Daltonganj Road (NH- 75)	RANCHI	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
244	Within 4 km of ITBP Gate on Ranchi Ring Road	RANCHI	Regular	170	OPEN	сс	35	35	1225	25	10	Bidding	30	5
245	In between Ormanjhi Chowk & Pundag Toll Plaza on Ramgarh- Ranchi Road (NH 33)	RANCHI	Regular	300	OPEN	сс	35	35	1225	25	10	Bidding	30	5
246	In Between Patel Chowk & Siramtoli Chowk, Ranchi Town	RANCHI	Regular	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
247	In between Argora Chowk and Alam Chowk on Pundag Road	RANCHI	Regular	200	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
248	Within 5 km of Bundu Chowk towards Ranchi on Ranchi-Tata Road (NH-33)	RANCHI	Regular	200	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
249	In Between Governor House Gate and Chandni Chowk on Kanke Road	RANCHI	Regular	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
250	Within 5 km of Chama More on Bijupara- Khalari Road	RANCHI	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
251	Within 3 km of Village Lodhma on Ranchi Tata Road (NH33)	RANCHI	Regular	250	OPEN	сс	45	45	2025	25	10	Bidding	30	5
252	Within 5 km of Pandra Pool on Ranchi Daltonganj Road NH75	RANCHI	Regular	180	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
253	In between 2 km (Pithoriya) & 5 km (Pithoriya) on Kanke- Pithoriya Road on LHS	RANCHI	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
254	Within 3 km of Village Gharkhatanga, on Ranchi Ring Road	RANCHI	Regular	170	OPEN	сс	35	35	1225	25	10	Bidding	30	5
255	In bewteen Kuchu Chowk & Chandwe Chowk on Morabadi Ormanjhi Road	RANCHI	Regular	120	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
256	In between Chandni Chowk to Hindustani Dhaba on Kanke Patratu Road	RANCHI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
257	In between Science City Gate to Boreya Chowk on Ormanjhi Road	RANCHI	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
258	Within 3 km radius of Tilta Chowk( Intersection of Ranchi Ring Road & NH75), on Ring Road	RANCHI	Regular	170	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
259	Within 1 km of Tupudana Flyover towards Sembo, on Ranchi Ring Road	RANCHI	Regular	170	OPEN	сс	30	30	900	25	10	Bidding	30	5
260	Within 2 km of Pandri Mosque on Ranchi- Daltonganj Road (NH75) towards Daltonganj on LHS	RANCHI	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4

261	In between Hehal Pawa Toli Chowk & St. Francis School	RANCHI	Regular	190	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
262	In bewteen Boreya Chowk & Chandwe Chowk on Morabadi Ormanjhi Road	RANCHI	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
263	Between Doranda Chowk and Ghagra Bridge	RANCHI	Regular	200	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
264	Within 3 km of Village Karaundi on NH-78	RANCHI	Regular	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
265	Within 2 km radius of Kutchery Chowk on any major Road	RANCHI	Regular	220	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
266	In between Kathalmore & Bajra Pool on Piska More-Kathalmore Road	RANCHI	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
267	Inbetween Karamtoli Chowk & Booty More via Bariayatu Road	RANCHI	Regular	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
268	Within 1 km from GundliPokhar Chowk towards Tatisilwai	RANCHI	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
269	In between Pandra Bridge and Rani Khatanga Panchawat Bhawan on Brambe-Itki Road	RANCHI	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
270	Within 5 km of Kesha More on Kesha More- Mandar Chowk Road	RANCHI	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
271	Within 7 kms of Ormanjhi Chowk on Ormanjhi Sikidri Road	RANCHI	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
272	On Ranchi ring road between Intersection of Ring Road with Kanke Patratu Road and intersection of Ring Road with Ramgarh- Ranchi Road (NH33)	RANCHI	Rural	100	OBC	СС	30	30	900	12	5	Bidding	10	3
273	Within Village RajaUlatu Block Namkum	RANCHI	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
274	In Between Kuchu Chowk to Ormanjhi Chowk on Ormanjhi - Morabadi Road	RANCHI	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
275	In between Brambe Chowk on NH75 to Ithe More on CTI Road	RANCHI	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
276	Within Village Mohanpur on Thakurgaon-Pithoria Road	RANCHI	Rural	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
277	In Village Malmanru on Khalari Road	RANCHI	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
278	Within Village Konki on Burmu-Thakhurgaon Road	RANCHI	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
279	In between Kmstone no. 25 & 28 on Ranchi Ring Road	RANCHI	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
280	Within 3 km radius of Kanke Block Chowk on any major road	RANCHI	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
281	Within 2 km of Village Lapung	RANCHI	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2

282	In Between Kuchu Chowk and Village Sadma on major road	RANCHI	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
283	Within 1 km Radius of LalGutwa Flyover on Ring Road side lanes	RANCHI	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
284	Within 2 km of Sonahatu Police Station on Bundu-Jamudaag Road	RANCHI	Rural	80	OPEN PH	сс	30	30	900	12	5	Bidding	10	4
285	Within 5 km of Pithoriya Chowk towards Thakurgaon	RANCHI	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
286	Within 3 km of Thakurgaon Chowk towards Khalari	RANCHI	Rural	90	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
287	Within 2 km of Saheb More towards Itki on Sahebmore-Itki- Tangarbasli Road	RANCHI	Rural	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
288	Within Village Hochar on any major road	RANCHI	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
289	Within 3 km of Sisei Post Office on road connecting Sisei Bus Stand and Village KothiTangra	RANCHI	Rural	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
290	Within 3 km of Village Hazam on TenMile Chowk to Temara Ghat Road	RANCHI	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
291	From Chama More to Village McluskiGanj on major road	RANCHI	Rural	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
292	WIThin 5 km of Mirza Chowki on NH80	SAHIBGANJ	Regular	220	OPEN	сс	35	45	1575	25	10	Bidding	30	5
293	4 Kms either side of Patel chowk on NH80	SAHIBGANJ	Regular	190	OBC	СС	35	45	1575	25	10	Bidding	30	4
294	Within 4 Kms from Patel Chowk on any Major Road except NH80	SAHIBGANJ	Regular	200	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
295	Within 4 km from Bihar Border on NH80 towards Sahebganj	SAHIBGANJ	Regular	210	OPEN	сс	35	45	1575	25	10	Bidding	30	5
296	Within 5 Kms of Mukimpur Village Near Taljhari on NH80	SAHIBGANJ	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
297	3 KM from Barahrwah Railway station on NH114A towards Hiranpur	SAHIBGANJ	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
298	3 km from mirza chowki on any major road	SAHIBGANJ	Regular	190	OPEN CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
299	BORIOBAZAAR, WITHIN 15 KMS OF MAIN CHOWK ON NH 80	SAHIBGANJ	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
300	WITHIN 5 KM FROM GUMANI CHOWK ON ANY MAJOR ROAD	SAHIBGANJ	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
301	FROM KANDRA TO MURIA ON KANDRA SERAIKELA ROAD	SARAIKELA KHARSAWA N	Regular	110	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
302	Within 3 KMS of HENSAL ON HATA CHAIBASA ROAD	SARAIKELA KHARSAWA N	Regular	130	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
303	From Pardi Mandir to Silver Sand Vrindavan Resort on NH33 on LHS towards Chandil	SARAIKELA KHARSAWA N	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5

304	FROM MURIA TO SINI ON KANDRA SERAIKELA ROAD	SARAIKELA KHARSAWA N	Regular	110	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
305	FROM SINI TO SERAIKELA ON KANDRA SERAIKELA ROAD	SARAIKELA KHARSAWA N	Regular	110	OPEN CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
306	From Chilgu to Chandil More on NH 33 on LHS towards Ranchi	SARAIKELA KHARSAWA N	Regular	180	OPEN	СС	35	45	1575	25	10	Bidding	30	5
307	From Dobo village to NH33 junction on Dobo- Kanderveda road	SARAIKELA KHARSAWA N	Regular	110	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
308	BETWEEN BANSA TO CHOWKA ON KANDRA CHOWKA ROAD (NOT IN VILLAGE BANSA)	SARAIKELA KHARSAWA N	Regular	150	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
309	within 3 kms of Chandil golchkkar On NH 32, towards Purllia	SARAIKELA KHARSAWA N	Regular	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
310	Within 3 km from Kerala Public School, Taldih, Ghamaria on either side	SARAIKELA KHARSAWA N	Regular	150	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
311	CHANDIL TOWN (ON MAJOR ROAD NOT ON NH)	SARAIKELA KHARSAWA N	Rural	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
312	Within 3 km of Village Bansjhora on Simdega - Rourkela Road NH 23	SIMDEGA	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
313	Within 3 km of Village Parsebeera on Simdega - Rourkela Road NH 23	SIMDEGA	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
314	within 3 kms of Noamundi on Chaibasa Noamundi Road	WEST SINGHBHUM	Regular	110	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
315	Within GHATSHILA TOWN ON MAJOR ROAD	WEST SINGHBHUM	Regular	110	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
316	Within 5 KMS of Kotgarh on SH	WEST SINGHBHUM	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
317	Within 3 Km from Jagannathpur chowk on Jagannathpur- Noamundi Road	WEST SINGHBHUM	Regular	110	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
318	Within 5 Kms from Chaibasa towards Jamshedpur on Chaibasa-Hata Road	WEST SINGHBHUM	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
319	BETWEEN JAINTGARH & JAGANNATHPUR ON JAINTGARH- JAGANNATHPUR ROAD	WEST SINGHBHUM	Regular	130	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
320	Within 3 kms from Karaikela thana Between Karaikela and Chakradharpur on NH 75	WEST SINGHBHUM	Regular	180	OPEN	сс	35	45	1575	25	10	Bidding	30	5
321	Within 5 kms from Barajamda on Barajamda - Barbil Road	WEST SINGHBHUM	Regular	130	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
322	Within 3 kms from Manoharpur Railway crossing on Manoharpur Ranchi Road	WEST SINGHBHUM	Regular	180	OPEN	DC	35	45	1575	25	60	Draw of Lots	15	5
323	MANOHARPUR TOWN ON MAJOR ROAD	WEST SINGHBHUM	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3

324	FROM RAILWAY CROSSING OF JAGANATHPUR TO JAGANATHPUR CHOWK on JAGANATHPUR - HATGAMARIA ROAD.	WEST SINGHBHUM	Regular	130	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
325	UPTO 3 KMS FROM SINGHPOKHARIA ON SINGHPOKHARIA- BALANDIYA ROAD	WEST SINGHBHUM	Rural	70	OPEN CC 2	DC	30	30	900	12	30	Draw of Lots	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (<u>www.hindustanpetroleum.com,www.petrolpumpdealerchayan.in</u>) and can be downloaded free of cost.

## APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

Type of RO	Type of Site	Category	Applicati on fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	СС	OBC	5000	ROs	CC	OBC	4000
	СС	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of  $\underline{10}$  years and renewable every  $\underline{10}$  years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address: -

Hindustan Petroleum Corporation Limited, 5<sup>th</sup> Floor, Maru Tower, Kanke Road, Ranchi -834008 Phone No 0651 2232466